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(700)ArEHIE  &:(710)2LHIE  ME:(714)204H] S:(101)21 24| (ch2l : &J)
Bog-NE- S maey | CSe | =2

& Al 150,106,170 | 125,866,996 | 24,239,174

700 AtHHIE 32,396,359 | 29,659,095 2,737,264

710 JgHIE 31,418,607 | 29,301,095 2,117,512

714 ZAH| 1,446,952 1,245,418 201,534

100 ol&E2Z| 1,042,712 928,632 114,080

101 el4d| 1,042,712 928,632 114,080
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@ otk =43 22Y 839,642
O =1 3,023,080 *149+12& = 507,878
O ZESIHI 507,877,000&*1/12 = 42,324
O ZAZAH 130,000&*x14H+12& = 21,840
O 99X 112,160@* 1420 = 31,405
O sg2esg 168,240 *x14H+x3U+12& = 84,793
O A2t 224 21,0303 *14H+40AI2H 128 = 141,322
O I=EE 10,080
- i A 40,0003 *14Hx12& = 6,720
- JIEPISE 20,000@*14H+12& = 3,360
® 293 65,161
O =0a3 839,642,000 *4.5% = 37,784
O =0UAHLEE 839,642,000&*3.06% = 25,694
O &I RAEHA 25,694,000 & *6.55% = 1,683
(OR=E=-1=3 44,502
OMINEH 839,642,000 *3.8% = 31,907
O 1NELHE 839,642,000 *1.5% = 12,595
@ I=sH(Hg=2 98) 6,202,000 *14] = 6,202
® =L 222 S4AH| 7,000&*14H*x90 = 8,820
© =482 M=z 3HIXA 60,0002 *x14Z*13| = 840

04 DJIZtMZZ2HSES 77,545 76,216 1,329
OJlza 1,352,000& 3128 = 48,672
O Jtzs=s4g 80,000&*3Y*12& = 2,880
O td &t 446,700 *2H*43| = 3,574
O HAZE x| 105,000&*87.5%*3H*12& = 3,308
O FHzAH| 130,000&*3H*12& = 4,680
O A2 4| 32,5603 *3H*10L = 977
O =224 102,6002*38+12& = 3,694
® AIZHHEQDIH SRE B2 8,431
O =03 Jasd3a 67,785,000&*4.5% = 3,051
O =0AHLEE J|2RE32 67,785,000&%3.035% = 2,058
O LI EAEE AR 2 2,058,000 %6.55% = 135
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18 Mg (714)2HY]  S:(101)1244| e ®)
Bog-NE- S maey | CSe | =2
O NEaEE IIARE2 67,785,000&*1.5% = 1,017
OAMNEE J|12AR2E 2 67,785,000&*3.2% = 2,170
® AZIEEADN SRS TII=SH(HYE2 95) 443,000& %39 = 1,329
200 =2g &l 404,240 316,786 87,454
201 et2Id| 254,240 164,536 89,704
01 AR2t2ltl 17,160 31,860 A 14,700
®© ZHE Hel==2 42,9003 *400E = 17,160
02 ===2ZH| 237,080 132,676 104,404
® ot=& Al EH| S| 8,000,000&*14] = 8,000
@ ot AlE(HH+ETY, 228X, MFX) MI|dy|etd 22| +=+2
250,000&*5 | A~x12& = 15,000
@ ot AlE(HH+ETY, 2T, X, 22, =2 S) &)=
12,000,000 *12& = 144,000
@ ot=T AIE(UI=EHOR, 2423, HFE ) NSH SAe=
2,000,000&3*12& = 24,000
©® 23X, NEX, BT E sXl22H] 15,000,000& %34 A = 45,000
® S==X F21&3H| ELH| 90,000 121 & = 1,080
206 M=l 150,000 152,250 A 2,250
01 LBt =l 150,000 152,250 A 2,250
@otxE B8 NMHFAL(MESFY S 105) 150,000,000+ 14 = 150,000
716 X2l &bl 27,437,412 25,606,514 1,830,898
200 =29 &l 9,539,100 7,966,514 1,572,586
201 er2Id| 9,059,100 7,706,914 1,352,186
01 ArR22ldl 28,200 306,718 A 278,518
©® S3ot=HMelAE9E dutEI =2 28,200,000&*14] = 28,200
02 =322l 9,030,900 7,400,196 1,630,704
@© =X 2 A2 oA Aot R3 9,375,000&*12& = 112,500
®=2XZ 2 I GtXelAE 8IS 743,200,000&*12& = 8,918,400
207 AL 480,000 259,600 220,400
01 H41EZ4%H| 480,000 259,600 220,400
® ot 2 SHKX Mel SIS &9 10,000,000 *14! = 10,000
@ ot SHX MelAd SE2Z JAIKE Y 70,000,000 %14] = 70,000
©® SESH2IAIE 1A EHAIE LFHIHE ALS JI2HE EEY
200,000,000 *14 = 200,000
® SEStHelAME 8 g I8 D28 29200,000,0008%14] = 200,000
300 Z&0|H 17,898,312 17,640,000 258,312
307 gIztol& 17,898,312 17,640,000 258,312
05 BIZtREZ 17,898,312 17,640,000 258,312
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(700)AtHHIE & (710)Z2HIE  ME:(716)HM2l&Hl  =:(307)212+01& (&9l - &)
Bog-NE- S maey | CSe | =2
® ot 2 SHA MelAld SE2Z QI2tRE 29|
1,491,526,000&*12& = 17,898,312
717 S i3 AtHI 5,000 105,000 A 100,000
200 =2g &l 5,000 105,000 A 100,000
231 &I AHHI 5,000 105,000 2 100,000
® Mol =3 At 5,000 5,000 105,000 A 100,000
O 50mm 5,000,000&*1& = 5,000
751 pkate|y| 2,529,243 2,344,163 185,080
100 Q= 2JH| 1,422,237 1,602,788 A 180,551
101 eldd| 1,350,777 1,516,988 A 166,211
01 2= 1,350,777 1,516,988 A 166,211
©== 921,325
O 52(3058) 453557731 Hx128 = 54,427
O 62(3088) 3,956,391 A *6H*12& = 284,861
O72(1988) 3,150,5403*11Y*12& = 415,872
O 8=(1088) 2,271,3083*3H*12& = 81,768
O 9=2(658) 1,758,258 *4H+12& = 84,397
® 324 921,325,000&*0.5/12&*23| = 76,778
® 322 Jpet3a 30,600
O 254 04t 130,000@* 11128 = 17,160
O 204 0Ol&af ~ 254 02t 110,000 +x6H*123 = 7,920
O 154 0l&f ~ 204 0O 8t 80,0003 *x1Hx12& = 960
O 104 0l&F ~ 154 O|¢t 60,0002 x3H*12& = 2,160
O 54 014 ~ 104 0|2t 50,0002 *x4Hx123 = 2,400
© A 87,577
O Jts=sg 18,360
- <A 40,0003#25%+0.78«12& = 9,360
- JIEt Jt= 20,0003%x25% 1 5x12& = 9,000
O e &t 18,000
- 1Nss 450,000&*10F*43| = 18,000
O =3 37,777
- 5= 4,535,577 *18*4.1/100%x12& = 2,232
- 6= 3,956,391 &*6Y*4.1/100x12& = 11,680
-7= 3,150,540 *11H*4.1/100%12& = 17,051
- 8= 2,271,3083*3Y+4.1/100x12& = 3,353
-9= 1,758,258 +«4H*4.1/100%12€ = 3,461
O Exg2Y 13,440
-Jl=gRsy 8,400
=1 50,0002 *x1Hx12& = 600
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(700)AH2HIE E:(710)HHIE  MIE:(751)deraeidl  S:(101) 28| (ch2l : &J)
Bog-NE- S maey | CSe | =2
- 6~72 30,000 *17H*12& = 6,120
8= 0|3t 20,000@*x7Hx123 = 1,680
- I3 5,040
< JIAL 30,0002 *x10HE*12& = 3,600
AFA DAL 20,0002*x6H*123 = 1,440
© =22 76,455
O 6= 10,6823 *6H*28A12H+12& = 21,535
o7 9,649 *11H+28A12H123 = 35,663
O 8= 8,663 *3F*28AI2tx12& = 8,733
O 9= 7,830 *4Z*28A2tx12& = 10,524
© 2| 4,535,577 1H+12&*9% = 4,899
© A=Al 130,000&*x25%H*x12& = 39,000
® FESOHY| 921,325,000&+0.6/12& 23| = 92,133
® HItE 4| 921,325,000&%0.86+1/30x10*1/12 = 22,010
106 P FH| 71,460 85,800
01 HMHZFRAHAH| 1,200 1,200
® HMZ AP AY| 100,000&x1H*12& = 1,200
02 HzE=H| 41,460 49,080
OF=F=1=EN:]l 41,460
O 5= 250,0003*1H*12& = 3,000
O 6= 155,000&+6H*12& = 11,160
o7= 140,000 *x11H+12& = 18,480
O 8~9= 105,000 *x7H*12& = 8,820
03 SZLRAHI 28,800 35,520
©® SINLSAMSRA 80,0002 25 +x12& = 24,000
® HAMBRHEL SRR 80,0002 *x2H*12& = 1,920
® H 2o HEG3RR 80,0002 *x2H*12& = 1,920
© HoIE-HRELESRR 80,000&*1Hx12& = 960
200 2944l 292,575 237,223
201 LBH2IAH| 146,280 110,958
01 ArR22lhl 112,560 78,530
®© 2A2gII=22| 40,0002 +x32F+12& = 15,360
© OlotA 2 ZAA HIZ 8,000
O Oll&HR) & Ol &AM HIE 10,0002 *702*103] = 7,000
O X301 ZaA M 10,0002 *1008+13] = 1,000
@ ot=E301e BoZAL =3 15,000,000 13| = 15,000
®© S20HAaYI 50,000 *32F*12& = 19,200
© XNESI|Y DMHPFE AL == 2,000,000&*13| = 2,000
© S7RME S22 3,000,000&*14! = 3,000
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[ ot==2t ]
2H(700)AEHIE  &:(710)Z IS ME:(751)er2eld]  S:(201)2 B2 el M3>)
Bog-NE- S maey | CSe | =2
®© 25t HeMNEEE S 25T 4 M 50,000
O LHSAI &2 26,900,000& x1 4! = 26,900
O SHEAI 2€32 23,100,000& x1 &l = 23,100
02 =22l 33,720 32,428 1,292
© 22 AH(BEgs 5) 9,000,000&*14) = 9,000
® st=a&ot==83lt| 8,700,000&*13| = 8,700
© EZ LS| 300&*1,00024*12& = 3,600
® H3x HACHHNEZ LEHI(1001 dIE) 330 *300H*x12E«104IH = 11,880
® Kot B 2= AAH SIHAMEZ 5,000&*9I Ax12& = 540
202 Oibl 73,760 61,920 11,840
01 =UHAYI 65,760 61,920 3,840
@ J12gRF80ol 50,400
O J120l 120,0003*32Y*12& = 46,080
O XA LI SRR K22 6l 120,000 «3Y+12& = 4,320
® EtAIESt=H2lAlE s & HIOILE &4 120,0002*x32Y+4 = 15,360
03 =ALR0HI 8,000 0 8,000
®© d=olxHelAE 4,292 22 HAGIEXHelAlE AsHB2Y)
2,000,000 *49 = 8,000
203 HRFAd| 14,880 18,080 A 3,200
02 FHRAIMMHRFZY] 2,560 2,280 280
© & Jtat R2FKY| 80,000 +32Y = 2,560
03 AIZHHR=XIH| 8,000 8,000 0
® AHHRFZIY| 8,000
OGRS 4,000,000&3*14! = 4,000
O & 4,000,000 *14! = 4,000
04 REN2IYRFLH| 4,320 7,800 A 3,480
© EA2IHRFALI 360,000&*12& = 4,320
213 Ws=dh| 11,200 0 11,200
©® SR U= 350,000&*329Y = 11,200 11,200 0 11,200
214 =HF XL 46,455 46,265 190
05 =&KXl 46,455 46,265 190
@ MHolEs 22 L 2UAE SFRES 30,000,000&*14] = 30,000
® NS0 olatslH EEAAE |Al22ld] 7,455,000 x14] = 7,455
@ Kot BEXR2=S A|IAE S22 S 1,125,000&*8IM 2 = 9,000
300 A&0ld 814,431 504,152 310,279
301 2BIEA= 50,000 0 50,000
07 QIZtel=204 | 50,000 0 50,000
© G35t H2AE 4,28 28 X230 =2 dEot=HelAlE 248
2,000,000 *25% = 50,000

ol



[ ot==2t ]
2h(700)AEHIE  E:(710)ZHIE  ME:(751)deraeidl  S:(303)E A3 e ®)
Bog-NE- S maey | CSe | =2
303 a3 10,000 10,000 0
01 Z&3 10,000 10,000 0
® ot=E B3I SALA A& K| HXI0H & AFHAIE 10,000,0008%14] = 10,000
304 HA3RE=a S 253,981 294,152 A 40,171
01 d=2RYE3 207,677 243,712 A 36,035
@©H=RE3a ¥ 2X3 1,420,006,000&*11.868% = 168,527
(OR=ES B =g == 1,420,006,000&%2.6380% = 37,460
© Mol24a €3 1,420,006,000&*0.1190% = 1,690
02 =ALESERE=S 46,304 50,440 A 4,136
@ H2LBEZ 1,420,006,000&*3.06% = 43,453
© LI QAYEHE 43,453,000 %6.56% = 2,851
317 SIS EEHURES 500,450 200,000 300,450
@S+ AIER YEES+RE2(AUE>22) 500,450 200,000 300,450
33,363,282,695& %1 .5% = 500,450
770 JIHedl= 8,000 38,000 A 30,000
771 XS0 AL FZ MBI 8,000 38,000 A 30,000
300 F&0IA 8,000 38,000 A 30,000
311 XL Z0IXHAE 8,000 38,000 A 30,000
04 SLHIXLS0|Atats 8,000 38,000 A 30,000
©® 2 Eot=HMel & sHXNX2AIE &5 843 0l A 8,000
O =t 2,000,000&+*43| = 8,000
780 Sg&4 649,752 0 649,752
782 MI|EUSTEL 649,752 0 649,752
751 HtE=z 643,200 0 643,200
02 Al-THIEXZBHES 643,200 0 643,200
® SEot=HelE 2 1A SIHEAESA SHIEXZ Bret
643,200,000 * 14! = 643,200
758 HI|ELHEL 6,552 0 6,552
® 2IPXIM 232 6,552,000 *14] = 6,552 6,552 0 6,552
800 oildlIYl 320,000 320,000 0
801 ollbldl 320,000 320,000
801 OilEIbl 320,000 320,000 0
® oldldl 320,000,000& = 320,000 320,000 320,000 0
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3-2. AEAAt FZ
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>
I
=
E=
O
Ll
i

SIHEE 12017 B
g

WaupE o (cro): 82l )
A 9o 9o & H 8 9o &
T = o H = B o= = o

H 15,325,750 By 14,425 986
T=onasy |ERPRREEESS 6,913,000 2zs 2,668,625
= SEXAFHS
DAEgDA 8,412,750 A= 11,699,361
e 58,000
B 12,125,530
HIJLS &0 TS )
HEZOIT A 12,125,530
3 342,000
HSS2AS
MR AD AE 342,000
% 90,816,295
ofl 1|
of1H1 ] 90,816,295
&t A (A) 15,325,750 gt A (B) 117,709,811
gIlaao (H284) (A - B) A 102,384,061
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[ shedt ]
2:(100) AEF42  8:(170) A2do3+ NE:(173) BHRAHEERZ Y 5:(01) 2 3 (e &J)
o - oo ([ IEET S5
2.8 HE-=2 Ol & o
100 AHE&¢ 15,325,750 23,622,860 | A 8,297,110
170 A=d03+L 15,325,750 23,622,860 | A 8,297,110
173 ElelHAHEEELZ L 6,913,000 11,165,000 A 4,252,000
01 =nN2Bxz2¢ 6,913,000 10,915,000 A 4,002,000
@ d=-FQXel=F ot=2=2 HHISA 3,071,000
O =dl 3,071,000,000&*14] = 3,071,000
® XPHES S 5ot 2 dLXIAF Y HUIAF(2X1) 1,000,000
O =bl 1,000,000,000&*14 = 1,000,000
©® Z2 XA SEHEEH ZIILEHEIAE A A 2,500,000
O =4l 2,500,000,000&*14 = 2,500,000
® ZEStHel & SHA HelAld st Esiias 3328d 342,000
O =4l 342,000,000 *14! = 342,000
175 SAIRE 2 8,412,750 12,457,860 | A 4,045,110
09 DJIEtSAIREZ 8,412,750 12,457,860 | A 4,045,110
® ot A0S S (=0t HelAE SE X AlE) 2,748,350
O LHSAI 22 1,478,612,000& 14l = 1,478,612
O SHEAI Y2 1,269,738,000& 14l = 1,269,738
© IS0t HelE SESAI 2E2 2,500,000
O LHSAI 232 1,345,000,000&*14] = 1,345,000
O SHEAI 2Y32 1,155,000,000& 14 = 1,155,000
@ ot=& A REZ 879,000 *300=+12& = 3,164,400
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2H(200) M2 XE  &:(230)REMAHSE ME:(234)7RF2  S:(401)AIEHI L2 (&9l - &)
Bog-NE- S maey | CSe | =2
200 NEEX= 117,709,811 96,207,901 21,501,910
230 |EMHS 14,425,986 | 24,712,494 | A 10,286,508
234 PE=2 2,668,625 3,839,986 | A 1,171,361
401 AIEHIL2C0HYI 2,668,625 3,839,986 A 1,171,361
01 Al&d| 2,652,200 3,812,500 2~ 1,160,300
© ot=22 W L SEHSA 500,000&*1,500m = 750,000
® St=2Z FTHEIA 25,000&*10,000m = 250,000
® St=SAIE S HUISAHEEE SI1H 2 100,000,00024+1000 AIEf = 1,000,000
® ol=2HZ =L SAHAIEY SHOFH ) 50,000,000& 10 ME = 500,000
@ ot=E Ald FLUEH 29 32,000 *2,500m = 80,000
@ XIot BEX 2= TSEAAE 1S 11,440,000 x5 A = 57,200
@ XIots &X1E &= Xl 1,500,000&*10HE = 15,000
03 AIZ=204bl 16,425 27,486 A 11,061
© ot=22 W L SEHZA 750,000,000&%0.63% = 4,725
@ ot-2Z EAZAL 250,000,000&*0.72% = 1,800
® ot=TAlIE 2 HUISAHMEE SIAHIS)  1,000,000,000&%0.63% = 6,300
® ot=2Z =L SAHAIE Y SHIFH ) 500,000,000&+*0.72% = 3,600
235 JIHEX 11,699,361 20,841,908 | A 9,142,547
401 AIEHIZ2C0HYI 11,699,361 20,841,908 | A 9,142,547
01 Al&H| 11,176,419 20,082,036 | A 8,905,617
® =X Y 25t U= 9,176,419
O =E5t=HMelAld 45X 22 e WS A 321,000,000 «10H = 321,000
O S EStH2lAIE 2HE 2XE X SHXEB I D SAH
420,000,000& 14! = 420,000
O 2L L A0t 2lAIE 1,28HH S X =8| =83 At
2,200,000,000& 14l = 2,200,000
O =E5t=HelAE s=X 4K =3 A 137,500,000 x4 X| = 550,000
O 2LotHelAE 555 £ HAFE WD WHISA
197,000,000&+1CH = 197,000
O =Eot=HelAld 25HH EAICI2ED| JHE S A 490,000,000& = 1CH = 490,000
O Z2Eot==HelAE 1,28H 3] =83 A 140,000,000&*14! = 140,000
O 2Eot==HelAld 1,280 RABE =63 At 125,000,0003 14 = 125,000
O ZEotHelAME 1SH MSESE(4X) SEINESAL
400,000,000&*4Xl = 1,600,000
O = Eot=XlAIE 1SH ALK EF&H| FOIEX
600,000,000 *1CH = 600,000
O 2 EStH2lAE ASOtA MEYXI| | =83 A
75,000,000&*1CH = 75,000
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A8 (235)J1 HIE X

S:(401) A EHIZLE

CHHI

dEE

B NS olerl | o ==
O ZEot=rXIIAIE 28 5HE MSBESE 1L WBtZEI| 2L
10,312,500 *320H = 330,000
O ot==ci Xl MelAl& 0ISHUE D] HEEH WHSA
98,230,000 *14l = 98,230
O ot==ci Al MelAld A2 015 HMEZHI0I0 LM SAt
119,350,000 *1CH = 119,350
O otk MelAlE skl SSEZE WHEA 253,220,0003 14! = 253,220
O = ZEot==HMelAlE ZAIHMH ALl tE 01 4,392,000&+1004 = 43,920
O ZEot=HelAlE 283 4. s X SEH FIHEX
12,752,500 *4CH = 51,010
O =Xot==XClAIE 6HE BISE EE4A SFI| FHEX
17,907,500& *4CH = 71,630
O Z2XEot=HMelAlE a8 1~330] EEMOE F0HEX
129,250,000 *14] = 129,250
O =Eot=sXelAE 18H DE X2l UPS2 SAI| 20K
301,800&*100H = 30,180
O =2Zot=HelANE 2as HHEEHHIFE X 100,000,000&+1CH = 100,000
O @IotrHelAE M ASEH BEY A2F 20
85,450,000 14l = 85,450
O F@Iotr=HelAE E=sFEH FIHEX] 20,140,000&*301 = 60,420
O 2XEotHMelAlE £d Al A0 OIHE ¥ IHs4 204X
85,910,000& 14l = 85,910
O 9=ot+HMelAld D58 LED =FE&H| F0i& Xl 50,000,000 14! = 50,000
O ZEot=r=XelAME IS8 LED ZE&H| FOH& X 68,000,000& 14! = 68,000
O =2 & A30tsHel7E RFEL 2 NJ[E ESE3M
212,500 +800m" = 170,000
O Z2ZEot=HMelAlE 6HE 1XAEEX 1K HHE=Z A
400m «350,000&*1 Xl = 140,000
O A=0otrHMelAlE MEl=2 O3 ExSAt 583m'*343,000& = 199,969
O A=dl=H2AE M= &L SHAE E+SA 2,205m*136,000& = 299,880
O E=0ot=XMelAME 1 XIHEEX 20X HHE =S A
120m*300,000&+2 X = 72,000
© AZotrXelE SESA 2,000,000
O LHSAt RE3 1,076,000,000& 14l = 1,076,000
O SH3 At €3 924,000,000& %14l = 924,000
02 el 500,000 713,983 2~ 213,983
©® D206t KelE SESA 500,000
O LH3AI €32 269,000,000 * 14! = 269,000
O SHSAt 23 231,000,000&* 14! = 231,000
03 Al&=CHY 22,942 45,889 A 22,947

s



2H(200) 2K E & (230)REAAHS ME:(235)II1HEX  S:(401)AEEILL2CHYI (&9l - &)
Bog-NE- S maey | CSe | =2

® =X Y 25t elAd Ui 9,176,419,000&*0.25% = 22,942
237 J|7HIS 58,000 30,600 27,400
405 THFSHIS 58,000 30,600 27,400
01  Xhats S| 58,000 30,600 27,400

© YRS 2SI 2L 29,000,000&*2CH = 58,000
260 HIDts&HIAHFS 12,125,530 20,248,580 | A 8,123,050
261 AL SOIRHA 12,125,530 20,248,580 | A 8,123,050
401 Al&HIZ2CHYI 12,125,530 20,248,580 | A 8,123,050
01 Al&H| 12,118,330 20,225,700| A 8,107,370

® XIgtEoL S =Fot=22 JHISAt 2,000,000

O =t 1,000,000,000& 14! = 1,000,000

O AlH| 1,000,000,000& 14l = 1,000,000

® =2XX SELEE ZIIH2AE XA 5,000,000

O =Hl 2,500,000,000& 14 = 2,500,000

O AlHl 2,500,000,000&*14 = 2,500,000

©® d=2-FQXClE+ ot 2 HUISA 5,118,330

O =Hl 3,071,000,000&=*14 = 3,071,000

O AlHl 2,047,330,000&*14] = 2,047,330
03 AlIE=20ibl 7,200 22,880 A 15,680

© XIEtEOIHE S0t 2 HHIS A 2,000,000,000&+*0.36% = 7,200
280 HIRS=2Mas 342,000 381,000 A 39,000
282 H=EXYS AZ AE 342,000 381,000 A 39,000
601 XUIRS4s 342,000 381,000 A 39,000
04 SLHEXNLS2S4E 342,000 381,000 A 39,000

© 2SIl SHRHEAE &€ X2 22 & 342,000

O =t 85,500,000&*43| = 342,000
800 OildIYl 90,816,295 50,865,827 39,950,468
801 0olldldl 90,816,295| 50,865,827 | 39,950,468
801 Ollblbl 90,816,295| 50,865,827 | 39,950,468
® oldltl 90,816,295,000&*14] = 90,816,295| 90,816,295| 50,865,827 | 39,950,468
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bl
oU
[H0
02
o

for

FHEE 2017 HE
Ol AR (Sl @)
= Ol &F of S & 0fl Akl s
- (A) (B) - B)
& 2 (A) 150,106,170 126,125,118 23,981,052
Al 65,730,091 52,398,497 13,331,594
TP Ag2 2ol 51,004,618 39,832,956 11,461,662
JlEr e 4ol 14,435,473 12,565,541 1,869,932
i 1,969,460 1,938,700 35,760
Ol Rh==2] 1,800,000 1,800,000 0
geiela
sl A& Y3+ 116,000 38,000 78,000
JIEF 19l 40) 53,460 95,700 A 42,240
i 15,325,750 23,622,860 A 8,297,110
= ElS|HALEX=+E 6,913,000 11,165,000 A 4,252,000
SARES Y 8,412,750 12,457,860 A 4,045,110
p] 67,080,869 48,170,061 18,910,808
EE
0123 67,080,869 48,170,061 18,910,808




[0
02
o

for

sHEE el
M= E (©9: &)
- o &b o U 0f b =2
- (A) (B) - B)
2 (B ) 150,106,170 125,866,996 24,239,174
A 31,418,607 29,301,095 2,117,512
ZHHH| 1,446,952 1,245,418 201,534
U= Hel&l 27,437,412 25,606,514 1,830,898
=-i==3 Attl 5,000 105,000 A 100,000
ukate|y| 2,529,243 2,344,163 185,080
A 8,000 38,000 A 30,000
deledlE
X=O0I A H S Hbl 8,000 38,000 A 30,000
Al 649,752 0 649,752
CEE
MI|EA-FEL 649,752 0 649,752
A 320,000 320,000 0
ollgl bl
(:{[s]]s]] 320,000 320,000 0
Al 14,425,986 24,712,494 A 10,286,508
=2 2,668,625 3,839,986 A 1,171,361
=X
JIAHEX 11,699,361 20,841,908 A 9,142,547
32I|7HI3 58,000 30,600 27,400
Al 12,125,530 20,248,580 A 8,123,050
BIotS
AL S QIR 12,125,530 20,248,580 A 8,123,050
Al 342,000 381,000 A 39,000
Hiss
FEX=z A2 A 342,000 381,000 A 39,000
Al 90,816,295 50,865,827 39,950,468
ollg1 bl
:{=]]s]] 90,816,295 50,865,827 39,950,468
(A -B) 0 258,122 A 258,122
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AL
1. HIEHl AN
(SH9l : eHOHR)
A =71 (2015717) 201613109 2 7] %) 2017 | 2018
Ad® | PR | EAQ IR
ikl | el (el | o4k | e | HPHd | AFd | AFA
71E (A 21,850 | 1,137 | 1,137 0| 12428 | 12428 0| 8285 0
A A ) 21850 | 1137 | 1,137 0| 12428 | 12428 0| 8285 0
7+ g H]
Aazo] | AVSRLH]
e
NS w7 B 25386 | 1,137 0| 15060 | 12363 2697 | 5118 | 4071
SR
UIEAE | A A u 25,386 1,137 0| 15060 | 12363 2697 | 5118 | 4071
7+ g H]
AlROH]
Z7B-N 3,536 0 0 0 2,632 65 2697 | A3167 | 4071
71E (A 4652 | 14399 | 4949 | 9450 | 10401 5,693 4708 | 21,72 0
A 24 H) 4565 | 13771 | 4621 | 9150 9,665 5,608 4057 | 21,128 0
ZF g 1,859 600 319 281 714 4 630 546
PARSEEES ) 102 28 9 19 22 1 21 52
ofstai
A | W4 ® 4652 | 14399 | 4949 | 9450 | 24013 | 162% 7787 | 8114 0
S
A A ) 44565 | 13771 | 4621 | 9150 | 23277 | 15607 7670 | 7517 0
72w 1,859 600 319 281 714 608 106 545
AR 102 28 9 19 22 11 1 52
Z7B-N 0 13612 | 10533 3079 | A13612
71E () 11,000 1,000 1,000 0| 5000 | 5000
ARCR:] 11,000 1,000 1,000 0| 5000 | 5000
72
2 s
S
2719 | BE B
Aead "
g | 1B
72 A
AR
Z7B-N
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2. 44 - JIZ0I& AFAXENM
(&= - &

] 20154
o 44} 2 Aw | e | ogug | 208 A
3 g % s
3. FSSUXA : HEaS
CEREE)
BBt N = B o} B _
o) 44 5}% A4l o 4t e | e REEE
s g 9 s

AE/nt, HSEHD)7HA/ N RH)

4 = A5 A 4 A 2 A 3
aw |28 mew | g4s e | BRI | ARAD | A2
3 T = K =gk | 3 7)ol = 2=0]
O:"Xo/\]7] ~E“'Z_‘]' T (¢] ]-‘_l %Xq —/':Eo]: 3—(_)1‘4 3':%]: %Ql‘] (a_g)
- std
2017.03 | 2E | #EXF Z;—E‘m 2 58
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